Take It To The LIMIT K L \’/g

Text reference section pages 400 -409

1) 750 grams of coal (C ) are reacted with790 grams of water according to the reaction:
b Cg) + 1. & HoOny > CHyg +___CO(g). Answer the following questions.

a) What is the hmltmﬁ reactant?
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b) How many granis of CH4 Would be produced"
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c) How many liters of C02 would be produced at STP?
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) FerOs + ) COw) =2 72;-». Fer) + % COx(g)
If 158grams of iron(Ill) oxide is mixed with11.2 liters of carbon monoxide gas at STP, find the
following:

a) The limiting reactant.
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3) Aluminum burns in bromine gas, producme a}ammum bromide: B p
2 Al+__3 B> _ 2 AlBn
What mass of aluminum bromide would be produced if 6.00 grams of aluminum was reacted with 50.0
grams of bromine gas? )
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4) 5.87 grams of copper(I)chloride react with 5.00 liters of hydrogen sulfide according to the following
reactionat STP. _ CuCl, +  HpS = CuS + 2. HCl
answer the following questions showing all necessary work.
a) What is the limiting reactant° .
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b) How many grams of copper(Il)sulfide are produced in the reaction at STP?
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¢) What is the mass of the excess reactant? \ (\7? Al ol Hyg /) e Srert .
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5) Consider the reactlonL‘;Al ’*"/%Og -)Z,A 203 Identify the limiting reactant in each of the following
mixtures. (molecular masses: Al = 27.0 g/mol, Oy = 32.0g/mol)
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b) 75.89 grams Al and 70.9 grams O,
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